Sr Questions Answers Choice

C‘v\r‘?f.‘j_\;.q
SR e e
Usis @ sl Al
WS

1 Losae 513 med (S SIS oads 1ae) gl

2% e S

saddi a5 o)

apabu
wf.uﬂ-.‘u-‘usc“‘t.ﬁ‘d‘

2 U 0 e S S (o 2l el

1925
1932
1913
1942

3 2 i S ES S G fn ) S S S (e gssea 8 e S ey el Gendl R

= s 0t S os))
oV o o e S
U g pld

4 R 1S S ol (S e

iy e
-\a.}ohﬁ
2y Jls SO
opble

5 o S g Jiie e S a2l cpanl

u.ud

o

ol

U PSS e e O

6 Alaxt (S Sl ealy) w03l e (oads Al e

=S S Cuad g s
o) o el (5 il
o oS o Cudd gl
s S s plad

7 Cuad (S paan S el

<l
s O
S8 Sl
D2 e s

8 = U R U8 Aot s eay D) G

B3
o
o

9 and oS 31 6 S ) S ad el and

a8 Al 2 ) S e
S8 e 1 e e
Gl 538 y sk e
op S ol Sl ol

10 s 12l el

O (S O ea
=S S @i panas S G s
U

2 (S oyl (e e

11 O o 058 @0 S e S oyl e

Cia sSea

O aa

S

U o S e O

12 =2 B8 A UsS mle s 1S (e Slaal el

1920
1925
1930
1935

13 i S M S Y S aly daal e 0 (JS,

1840
14 o0 oS 3T 1€ s slael cpandl 1844
1845
1850

S a3 1S Ll
oS

C. Jadisi sdlas S ead 551 )
D. = Us asps o3 S dlee

W» 00D P DOUP 0DODP DO®P DOEP U0EP» UODP DOWF U0®P» DOWP DO0WF U0®P» UDOmP» 00w

15 Aata 5l 1S ey dlaal Ganil






